>
A & 0l & AF 2 E A A
20198 & =0lat LBl A A
SRR}
Hu: pEnE T4 Y 84
Sl FMATY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
At 15,518,152 13,511,964 2,006, 188
= 4,716,899
s 1,715,231
= 1,422,049
s 7,663,973
SMENE 2H 2 54 11,286,777 9,358,507 1,928,270
= 3,858,964
s 1,412,231
< 1,022,752
s 4,992,830
ZHEEH 1,920,618 956,693 963,925
= 864,406
< 202,825
[ia 853,387
TEASXH 380,151 172,692 207,459
201 Let24d] 14,370 12,880 1,490
01 At 22l 9,380 8,420 960
OUBZHYD =X SHH(BH)
8,000 x6H 6L «12& 2,880
OAS LA S4 8,000& x500H 4,000
oggeol sotstial 23+
2,500,000& =14 2,500
02 =224l 4,990 4,460 530
ostge=g3 60,000 = 1CH 60
OXts A M= 160, 000& = 1CH 160
OnsSi B = 600,000 = 1CH 600
OXt& =Xl 670,000& »1CH 670
Otgdxd RFE ER A2l
3,500,000 = 1CH 3,500
202 O4dl 6,240 3,720 2,520
01 = LH 4 b 6,240 3,720 2,520
OMNEZH AREX(EY)
130,000 4 x12& 6,240
203 ¥ S =&l 3,000 0 3,000
03 AIZ=XH 2 =AY 3,000 0 3,000
OAMHBHEZFA & Xd gL 3,000,000& 3,000
206 M= Hl 10,000 10,000 0
01 =4l 10,000 10,000 0
O=Z8 UR Us0oFI| &AL 258 2¢
5,000& »2,0002 10,000
207 O H] 30,000 0 30,000
01 2284 30,000 0 30,000
OXgLgAHe =8 224 30,000,000& =14 30,000




SRR}
M MNE X4 2 R4
Sl FMATY (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 316,541 146,092 170,449
01 A& HI 314,261 145,040 169,221
OL@+& =4 (10ha)
76,540,000& %99.28/100 75,989
O2USR AT (B M= 20ha)
12,000, 000% *20ha*99.28/100 238,272
03 AlE 2 THHI 2,280 1,062 1,228
OLR & =4(10ha) 76,540,000 «0.72/100 552
O2URSATE(H=E 20ha)
12,000, 000& *20ha*0.72/100 1,728
TE(ZEAG A . 22) 127,604 71,819 55,785
= 76,563
< 15,319
e 35,722
401 Al HIZ 201 8] 127,604 71,819 55,785
= 76,563
< 15,319
i 35,722
02 2feldl 127,604 71,819 55,785
OXSAIY 22189 (330ha)  386,678% *330ha 127,604
= 76,563
< 15,319
s 35,722
T (EHEEY) 1,412,863 712,182 700,681
= 787,843
< 187,506
[ia 437,514
401 AIEHI L 2 0] 1,355,923 712,182 643,741
= 756,093
= 179,950
s 419,880
01 A& Bl 1,351,042 707,054 643,988
OZ M & x4 (320ha)
1,558,070,000%& *99.64/100%87 .0258/ 100 1,351,042
=2 753,341
< 179,283
s 418,418
03 Al 2 THHI 4,881 5,128 AN 247
OZ M & =4 (320ha)
1,558,070, 000& *0.36/100%87.02/100 4,881
= 2,752
< 667
s 1,462
402 2I2H X201 M 56,940 0 56,940
= 31,750
< 7,556
s 17,634




SM: &Y
My NN T4 2 54
2|

e A

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

ASEE(0IETHE) 56,940 0 56,940
OKRSFEXXE (4ha) 25,253,200 *90.189/100 22,776
12,700
3,022
7,054
OSE& X=X (6ha) 37,879,800 +90.189/100 34,164
19,050
4,534
10,580

HH A

Mo H

ry
o
10
FA

It

= 1,528,764 450,194 1,078,570
568,314
288,135
672,315

MW

TE(BUR3d=xY) 72,000 319,574 N24T7,574
36,000
10,800
25,200

MW

401 AIEHIZ 2 I 72,000 319,574 N24T,574
36,000
10,800
25,200

Mo A

01 A& HI 71,352 317,273 N 245,921

O23J= s&EINRI(1HL)

72,000,000& *99.10/100 71,352
36,000
10,800
24,552
CH Hl 648 2,301 A 1,653

_C'I_
OSZUEsE sEIRIN(1HA)

72,000, 000& *0.90/100 648

h

HH A

T (ML =) 123,102 130,620 AT7,518
14,652
32,535
75,915

MR

401 AIEHIZ 2 I 123,102 130,620 AT7,518
14,652
32,535
75,915

Mo A

01 A& HI 123,102 130,620 AT,518
O&rZ Mol & Xl =& (18ha) 6,839, 000& *18ha 123,102

14,652
32,535
75,915

M

B
o
™
1z
[
10
E
%
o
4
P
U

332,328 0 332,328
101,328

69,300
161,700

Mo R




SRR}
Hu: pEnE T4 Y 84
ool 2URxY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 332,328 0 332,328
= 101,328
< 69,300
s 161,700
01 A& HI 319,965 0 319,965
OQHEY 21| o= 7 =& (105ha)
332,328,000% *96.2797/100 319,965
= 101,328
< 69,300
s 149,337
02 Zeltl 9,970 0 9,970
Qe L2 o= 7 =& (105ha)
332,328,000 *3/100 9,970
03 AIE S THHI 2,393 0 2,393
QW Lt o= 7 =& (105ha)
332,328,000% «0.72/100 2,393
T (0IHMYX 2LREE) 731,334 0 731,334
= 281,334
< 135,000
s 315,000
401 AIEHI 2L 2 OH Ll 731,334 0 731,334
= 281,334
< 135,000
[ia 315,000
01 A& HI 704,926 0 704,926
OBIMZX 22U E8(75ha)
731,334,000% *96.38901/100 704,926
= 281,334
< 135,000
= 288,592
02 2feldl 21,801 0 21,801
ODIMe X 2L =& (75ha)
731,334,000& *2.9809/100 21,801
03 A& S THHI 4,607 0 4,607
OO0IMHXI 2LR X (75ha)
731,334,000& *0.6299/100 4,607
ZE(ODMUX HSUREE) 270,000 0 270,000
= 135,000
< 40,500
s 94,500
401 Al HIZ 201 I 270,000 0 270,000
= 135,000
< 40,500
s 94,500
01 A& HI 259,956 0 259,956
ODIMeX H2U2 X2 (30ha)
270,000,000% *96.28/100 259,956




SRR}
Hu: MRIlE XA W 84
oelr 2UREY o HE)
SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
= 135,000
< 40,500
= 84,456
02 Zteltl 8,100 0 8,100
ODMeX H2U2 X2 (30ha)
270,000,000 *3/100 8,100
03 AlE S THHI 1,944 0 1,944
OOIMHX =22 X2 (30ha)
270,000,000& «0.72/100 1,944
&P xd Y 2 384,046 288,542 95,504
2T M 384,046 288,542 95,504
101 @14 Hl 177,826 144,122 33,704
04 JIZHHZ2XNEE S 177,826 144,122 33,704
OZ2 -3z Held 72,789
—-Jl=s 69,0703 «3 21«18 47,866
— WSl 2,0003 «3H 21U 118 1,386
— =4t 4,000& +3F 21«18 2,772
—F=54 69,0703 x3H x46=F 9,532
S PN R 75,0703 x3H x 112 2,478
—4dHEE= 64,034,000& *12.5% 8,005
— s ¥ oHME 250,000 »3H 750
OZ5 dak & AlTY 105,037
= 69,0703 «6F 212 «8& 69,623
— Sl 2,0003 «6H 212 +88 2,016
— =AM 4,000 6«21 8 4,032
- &5 69,0703 x6H x34=F 14,091
—Qx=g 75,0702 x6H 8 3,604
—4H2E= 93,366,000 *12.5% 11,671
201 LEr2 Y| 11,720 10,720 1,000
02 23=2gHl 11,720 10,720 1,000
O2RoteA MIIL= 30,0003 x2=+12& 720
OLT2EL & = I KX 2eldl
500,000& *2CH*11& 11,000
206 M= Hl 139,500 107,000 32,500
01 = Hl 139,500 107,000 32,500
O3k, 218 ¢ 120& x10& 40,0002 48,000
OZZMuE dEFY 7,000& *4,000%Z 28,000
OZZMLE JIE AP
150,000& 508 7,500
Os8=MN 224 26,000
-—=H 22 2¢ 26,000
=3t 2,500& x8,0002 20,000




AtE ot
MEXY ZH Y 4
%2 x4 L e EERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
- =3 S0l 30,0002 2004 6,000
OFHMZE IHM(Z2R)7Y 600& x50,0002 30,000
401 Al I 28I 55,000 25,000 30,000
01 A& Hl 55,000 25,000 30,000
Osd =M 28 4X 15,000, 000& * 14! 15,000
Oo=glo & 28 &1 20,000,000& =14 20,000
OCteltt2t 3tE AXIAY 62,500& *320m 20,000
=02 = IR0 3,573,914 3,800,022 A 226,108
= 2,081,857
= 444 558
s 1,047,499
M RI (I RIIALLY) 531,976 735,664 A 203,688
= 265,988
< 79,797
s 186,191
401 Al HI 2 28I 531,976 735,664 A 203,688
= 265,988
< 79,797
s 186,191
01 A& HI 499,657 690,012 A 190,355
O2 Lt It 1 (130ha)
225,638,000& *92.6/100 208,941
= 112,819
< 33,846
s 62,276
O L2241 (1K)
306,338,000% *94.9/100%1/2 145,358
= 76,585
< 22,975
i 45,798
O L2t RI| (28 %)
306,338,000% *94.9/100%1/2 145,358
= 76,584
< 22,976
i 45,798
02 Zeltl 27,130 37,519 A 10,389
O3 LRIt I1(130ha) 225,638,000 *5.1/100 11,508
OO0 2l Lk 2 2F3 | (200ha)
306,338,000% *5.0995/100 15,622
03 Al 20 HI 5,189 8,133 A2,944
OS2 USRIt 171 (130nha)
225,638,000& *2.2997/100 5,189
HMORI(ZZXIHRI) 1,531,738 1,564,358 A 32,620
= 765,869
< 229,761
[ia 536,108




SN MDY
Hu: pEnE T4 Y 84
@2 =02 = IR (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 1,531,738 1,564,358 A 32,620
= 765,869
< 229,761
s 536,108
01 A& HI 1,390,818 1,433,075 AN42,257
OZEXIJtRIIAL (1X172)
1,531,738,000& +90.8/100%33.33329/100 463,606
= 231,803
= 69,541
s 162,262
O XIRIIAL (2K 7)
1,531,738,000& +90.8/100%33.33329/100 463,606
= 231,803
< 69,541
s 162,262
OZEXIJtRIIAL (3K )
1,531,738,000& *90.8/100%33.33329/100 463,606
= 231,803
< 69,541
s 162,262
02 2feldl 135,406 124,987 10,419
O XIJtRI|I AL (1,000na)
1,531,738,000& *8.84/100 135,406
= 67,703
< 20,311
i 47,392
03 A& S THHI 5,514 6,296 AT782
O XIIJtRII AL (1,000na)
1,531,738,000& *0.35992/100 5,514
= 2,757
= 827
[ 1,930
HFHIRIN(ST MEHGCX) 1,510,200 1,500,000 10,200
= 1,050,000
< 135,000
e 325,200
202 oddl 10,200 0 10,200
01 = LH o4 1l 10,200 0 10,200
OUEPY LR (BH)
130,000 x5H 123 7,800
OMXIFEE 250 Y2 =
20,0003 «1H«103|x12& 2,400
402 RI2HX=201 M 1,500,000 1,500,000 0
= 1,050,000
< 135,000
s 315,000
03 212t & AL S HI 1,500,000 1,500,000 0
OdEaHAHEX(14)  1,500,000,000% * 14! 1,500,000




A
Hm: pENE T Y 84
Eelr U2 = IR (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 1,050,000
< 135,000
= 315,000
AT 1,077,473 1,673,035 A 595,562
s 754,231
s 323,242
AL (MEHE)(XNXMIA2)(LZIA) 833,910 867,071 A 33,161
s 583,737
= 250,173
401 Al HI & 28I 833,910 867,071 A 33,161
s 583,737
[ia 250,173
01 A& HI 812,924 844,959 A 32,035
O2tH A& A A AFS (3.0km)
669,000,000% *97.3898/100 651,538
s 468,300
s 183,238
OXFH A AA A (1.0km)
135,000, 0002 *97.3895/100 131,476
s 94,500
s 36,976
OY T AHE & A 9,970,000& x33| 29,910
s 20,937
[ia 8,973
02 Zeltl 15,197 16,012 AB15
O2Hd 2 & Al A AR (3. 0km)
669,000, 000& *1.89/100 12,645
O AT A A AL (1.0km)
135,000,000 *1.89/100 2,552
03 Al =2 THHI 5,789 6,100 A311
O2hd 2 & A& AFR (3. 0km)
669,000, 000& *0.72/100 4,817
O AT A A AL (1.0km)
135,000,000 *0.72/100 972
ACANE (MEAH)(NXMI2)(DE22) 243,563 805,964 A 562,401
as 170,494
e 73,069
101 124 dl 85,519 28,507 57,012
s 59,863
e 25,656
4 DIt ZE2EXNESES 85,519 28,507 57,012
ogs2eld(6y) 85,519
—Jlas 66,8003 x6H x160 64,128
s 44,890
e 19,238
= 66,800& x6H x27=F 10,822
s 7,574




A
M MNE X4 2 R4
el YA (B9 ®R)
5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
o 3,248
— 428 = 74,950,000 x12.5% 9,369
s 6,559
s 2,810
—&gs Y otds S 200,000& x6H 13| 1,200
s 840
s 360
201 £B-2d| 2,781 2,000 781
s 1,946
s 835
01 At 22l 2,781 2,000 781
ogzzel €8 2 55,6203 x50& 2,781
s 1,946
s 835
401 Al BIZ 201 8] 155,263 775,457 A 620,194
as 108,685
i 46,578
01 A& HI 155,263 756,726 A 601,463
OY T 24 A (20.0km) 7,763,150& %20.0km 155,263
s 108,685
s 46,578
S&t2 | 857,327 617,691 239,636
s 385,000
i 472,327
=g el () 87,327 617,691 A 530,364
101 @124 dl 26,027 66,691 AN 40,664
M4 II12HH22NSES 26,027 66,691 AN 40,664
OSKZ o MESF F8 HEXY(4Y) 26,027
-Jl2s 69,070 x4H 212 x3& 17,406
—F54 69,0703 x4H x12=F 3,316
— XY 75,0703 »4H x3 901
— Sl 2,0003 *4H 21«38 504
— =AM 4,000 4«21 »3& 1,008
—4AHEE = 23,135,000& *12.5% 2,892
401 AIEHIZ 28I 60,000 550,000 A 490,000
01 A& HI 60,000 536,410 AN476,410
S&Z AIE2 Jdl & sA2el
30,000,000& =14 30,000
OS&=2 JHl ¢ ZEE &X(1MA)
30,000,000& =14 30,000
405 THobF S| 1,300 1,000 300
01 AL EFH S 1,300 1,000 300
odgEAII(ERY) ¢ 650,000& *2CH 1,300
LX LA (M2)(SMH2FH) 770,000 0 770,000




2N s
Hu: pEnE T4 Y 84
Sl S42 Hy (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 385,000
= 385,000
401 AlEHIZL £ 0HY| 770,000 0 770,000
Fag 385,000
= 385,000
01 Al&H| 752,367 0 752,367
OS2 HUIALE 770,000,000® *97.71/100 752,367
= 385,000
= 367,367
02 2teld| 12,782 0 12,782
OEAZ HHIAIY 770,000,000 x1.66/100 12,782
03 AlE 21| 4,851 0 4,851
OEAZ2 FH ALY 770,000,000 x0.63/100 4,851
MNEIASE 386,819 204,443 182,376
= 165,643
= 45,000
= 27,491
= 148,685
S NHAZER0 29 A TASsA 22 HY) 20,296 18,452 1,844
= 10,148
= 3,044
= 7,104
101 21214| 19,796 15,500 4,296
= 9,898
& 2,969
= 6,929
04 JI2tHIZ22NSEES 19,796 15,500 4296
OZANSsK 22 (1 19,796
A=) 66,800 x 18«21«10 14,028
= 7,014
= 2,104
= 4,910
— =54 66,800& 1 x40 2,672
= 1,336
& 401
= 935
— A xe 66,800& 12«10 668
= 334
= 100
= 234
— 428 = 17,368,000 *12.5% 2,171
= 1,085
= 326
= 760
— s 257,000 x 1 %13 257
= 129
= 38
= 90
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201 & | 500 2,952 A2,452
250
75

175

e
Mo

HH A

01 AFR2t2lHl 500 2,952 N2,452

OE A= £E37¢

]
all
o

100,000& 55 * 12 500
250

75
175

M H

>
o
x
==
1>
i
10
=]
Ho
08
]
0
™
IS
o
Pl
n
=

20,296 32,817 A12,521
10,148
3,044
7,104

Mo H

101 1Al 20,296 32,817 A12,521
10,148
3,044
7,104

MR

04 JIZtHZ22 s+ 20,296 32,817 A12,521
O=ZHMEXZA(1Y) 20,296

—JlZs 66,8003 x1H x21.4522 «10& 14,330
7,165
2,149
5,016
s=g 66,800 x1H +52.09& 3,480
1,740
522
1,218
— 428 S 13,480,000 *12.505% 1,686
843
253
590
— W= 400,000& »12 400
200
60
140
—Sgs ¥ ode S 400,000& * 12l 400
200
60
140

Ao HHn A HH W HH A

MW

P

ZE0=S g 0L 65,533 57,470 8,063

101 1A dl 65,533 57,470 8,063

04012t 22 s+ 65,533 57,470 8,063
ONMEDISSZ0HLIX(3Y) 65,533

—Jlzs 69,0702 «3E 212« 102 43,515

= Hl 2,000 321 103 1,260

sl 4,000 3 =212 x102 2,520

£
0

il
Iz
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=g 69,0703 x3H «42= 8,703
=g 75,0703 x3H x10& 2,253
— 428 = 58,251,000 *12.5% 7,282

AENS2YMLM(EX) 40,400 36,800 3,600
20,200
6,060
14,140

MW

101 1Al 40,400 36,800 3,600
20,200
6,060
14,140

Mo H

04 DIt Z22 XS+ 40,400 36,800 3,600
OMEDISSZ0LIM(2Y) 40,400

—Jlz2s 66,800 x2H x21.45272 10 28,661
14,330
4,299
10,032
g 66,8002 x2E x41.878Z 5,505
2,798

839
1,958
200,000 *2& 400
200
60
140
250,0002 *2& 500
250
75
175
644
822
547
275
,600
800
240
560

| |
Jd S
12 0 0
B[l 1] 4>
e E 0
o B
&
M
MW MM MR

Mo A

— 428z 29,152,000 *12.5%

MW
— — w

— 24| 4,000 2% «202 * 102

MW

=
o
x
[
I>
H
10
=)
Mo
02
>
o
ty
L
x
S
(o2
o

,000 22,000 28,000
25,000
,500
17,500

Mo
~

201 L Er2A | 50,000 0 50,000
25,000
,500
17,500

Mo
~

01 At 22l bl 50,000 0 50,000
O=di&IH(2¥) 50,000,000& » 14| 50,000
,000

W
N
&




A
Hm: pENE T Y 84
el ARIMHIAZA CER-ED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 7,500
s 17,500
LAANE sSMB2H ZHAI (S2AML) 90,000 0 90,000
= 90,000
401 Al I 28I 90,000 0 90,000
= 90,000
01 A& Bl 89,190 0 89,190
O29NE S8BT =4
0,000, 000& *99.10/100 89,190
= 89,190
03 AIE =2 0HHI 810 0 810
OAQANE =M T4
90,000,000& *0.90/100 810
= 810
MEANBIA €201 2KV (3tDE 2COUI0E) 20,294 0 20,294
= 10,147
< 3,043
s 7,104
101 14 Hl 19,794 0 19,794
= 9,897
< 2,968
s 6,929
04 JIZHHZ2XNHEE S 19,794 0 19,794
Ostuz= ICIUIOIE (1Y) 19,794
-J=3 66,800 * 12 +212 x 10" 14,028
= 7.014
< 2,104
s 4,910
—FF5Y 66,800& 1 x40=F 2,672
= 1,336
< 401
[ 935
— XY 66,8003 x 1«10 668
= 334
< 100
i 234
—4HEE = 17,368,000& *12.5% 2,171
= 1,085
< 326
[ia 760
— W=l 255,000 x 18 +13] 255
= 128
< 37
s 90
201 Let249] 500 0 500
= 250
< 75
i 175
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el

A}
MEXY ZH Y 4
NEMHIAST

2A-3H-HA(EAH) - M2

AL

01
o

0l &t o

=

i
2m

0

01 AFR2t2ltl

e A
= =
Oﬁ =

2CUIOIE =23

29

100,000& 55 * 12

Mo H

500

500
250

75
175

500

=
o
x
=
[>
H
0
(=)
Mo
02
=
o
it
S

Mo

16,000

4,800
11,200

16,000

S
e
[
=

EUNL

16,000

4,800
11,200

16,000

04 JIZtHZ22 s+

O=ZMENEA(EH, 19

— 428 S

)
66,8003 x1H «1732

66,8003 x1H 34,56

13,866,000& *12.5%

400,000 1

T

M

16,000
16,000

11,557
3,467
8,090
2,309

693
1,616
1,734

520
1,214

400

120
280

16,000

Mo

64,000

45,000
19,000

64,000

EUNEY)

64,000

45,000
19,000

64,000

64,000,000& * 14!

Mo

64,000

64,000

45,000
19,000

64,000

Mo

501,219
178,744

52,543
269,932

379,468

121,751

A A=

(=

PRI THE EALE)

U RN

68,190
34,770
10,026
23,394

61,800

6,390

H A

68,190

34,770
10,026

58,050

10, 140
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Hm: pENE T Y 84
el =MUTIRlAY (el:de)
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o 23,394
04 D12t Z2XEES 68,190 58,050 10,140
O=It PRI X2 = AFEH(3Y) 66,390
—-Jlas 66,7993 x3H 21U 118 46,292
= 23,146
< 6,194
e 16,952
-5 66,799% *3H x44= 8,818
- 4,409
= 1,675
= 2,734
— QX 66,780 x3H 113 2,204
= 1,102
< 419
i 683
—4E2E= 57,312,000& x12.5% 7,164
= 3,582
< 1,361
[ia 2,221
— I =l 562,000 *14] 562
= 281
< 107
i 174
— W=l 450,000& x3H 13| 1,350
= 1,350
O#INRIINEZANG SETY
180,000 x5& 23] 1,800
=2 900
< 270
s 630
ZAENPI (X SH ) (MU0 QU AL TS 187,698 192,642 4,944
)
= 94,974
< 27,817
s 64,907
101 @124 dl 160,870 161,900 A 1,030
= 81,560
< 23,793
s 55,517
04 DIt 22 XREES 160,870 161,900 A 1,030
OBl QO A =& = (9Y) 160,870
-J=3 66,800 <9 «212 x9B) 113,627
- 56,813
< 17,044
s 39,770
- =54 66,800 x9H »34= 20,441
= 10,221
= 3,066
i 7,154
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M MNE X4 2 R4
Sl =AM QATRIAY SREED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
PN = 66,800 x9F 9 5,411
= 2,705
< 812
s 1,894
— 40 EE 139,479,000& *12.5% 17,435
= 8,718
= 2,615
s 6,102
— Il =l 1,706,000 =14l 1,706
= 853
= 256
[ia 597
— W=l 250,000& »9H 2,250
= 2,250
201 ¢er24l 26,828 30,742 A3,914
= 13,414
< 4,024
s 9,390
01 At 2t 2l 16,028 17,500 AN1,472
OAtBIOI 20 A 2 =57
200,000& x20& *23| 8,000
= 4,000
< 1,200
s 2,800
O&HEHIOI 2O A =& & Xt I
802,800& x1CH+10& 8,028
2 4,014
= 1,204
e 2,810
02 =224l 10,800 13,242 N2,442
oxtg & = Xl
360,000 *6CH x53 10,800
= 5,400
< 1,620
i 3,780
MEHEE 29 139,531 125,026 14,505
101 14 Hl 113,531 101,626 11,905
04 J12tH 22 113,531 101,626 11,905
OMEIHE 25 22 113,531
—Jl=s 69,0703 x5 21«10 72,524
— WSl 2,000 x5 *212 «10& 2,100
— = Al 4,000 x5 *212 «10& 4,200
- =54 69,070& x5 H »42= 14,505
— QX< 75,0703 x5 10 3,754
—BtEH 50,000& *x10& 500
—42E=2 97,583,000 *12.5% 12,198
—&gs 2 otdsEt 250,000& x5H 1,250
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M MNE X4 2 R4
Sl =AM QATRIAY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— W=l 500,000 13| x5 2,500
201 et 22,400 19,400 3,000
01 At 22l 5,600 5,000 600
OUEIHEE 2223 ¢
250,000& x10& 23] 5,000
OLYIHEBHIEZR L BSR3
50,000& x 1= *128 600
02 2324l 16,800 14,400 2,400
OXtg & SSINAHEH =X 22l
350,000 +8CH x6.2 16,800
202 044l 2,400 4,000 A1,600
01 = LH o4 1l 2,400 4,000 A 1,600
OUEIHEE HR=A
20,0003 =1 103l 12& 2,400
405 RHoHE S HI 1,200 0 1,200
01 AL EFSFH S 1,200 0 1,200
OAAE(IXXINE)7 600,000& »2H 1,200
LHINAHZH SOHS 105,800 0 105,800
= 49,000
= 14,700
[ia 42,100
202 44l 7,800 0 7,800
01 S LHOIYI 7,800 0 7,800
OPB=X AREX(BH)
130,000 x5 12& 7,800
405 TtHabF S| 98,000 0 98,000
= 49,000
< 14,700
[ia 34,300
01 AL EFH S 98,000 0 98,000
OLHINHEH L (5T) 19,600, 000& x5& 98,000
= 49,000
< 14,700
s 34,300
tzstdrd & 2324 299,390 284,141 15,249
t2edxd 2 2e 2,822 4,260 A 1,438
201 Let24d] 2,822 1,920 902
01 At 22l 2,822 1,920 902
OFB=XYL X SYH(BH)
6,719 x6F »7L «12& 2,822
ste 2 22 2ol 100,984 100,720 264
101 @124l 100,984 100,720 264
04 JI2ZtHZ22HEE = 100,984 100,720 264




SRR}
Hu: MRIlE XA W 84
Sel JREATY UL BREY (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ozt Z2A 22| (3470 £, 19km) 100,984
—Jl=s 69,0703 «6H x20 «8& 66,308
-5 69,0703 x6H x34=F 14,091
—Qx=g 75,0703 x6H 8L 3,604
— WSl 2,000 x6H x20 «8& 1,920
— =2l 4,000 6«20 8 3,840
— 42 = 89,763,000& x12.5% 11,221
S22 SHIDI 195,584 179, 161 16,423
101 @144 Hl 195,584 179, 161 16,423
04 JIZHHZ2XREES 195,584 179, 161 16,423
OZ=28 EHII(1H S - H) 195,584
—dots 254 ,000& %32 . 2km*23] 16,358
—Egd¢ 254,000& *26. 7Tkm*23| 13,564
— oA 254 ,000& *27km*23] 13,716
— Sy 254,000& %42 . 6km*23| 21,641
— o4&y 254 ,000& %17 . 3km*22] 8,789
— 2o 254,000& *46 . 9km*23| 23,826
—d=d 254,000& *63. 2km*23] 32,106
—0tgd 254,000& *19.0km*23| 9,652
i 254,000& *47 . 7Tkm*23] 24,232
— &Y 254 ,000& *31.4km*23] 15,952
— =&Y 254,000& *31.0km*23] 15,748
254 22 69,000 54,000 15,000
< 7,200
e 61,800
S5 (XA) 45,000 30,000 15,000
401 A& HIZ 201 I 45,000 30,000 15,000
01 A& HI 45,000 30,000 15,000
Ok 2tel 3,000,000& »15= 45,000
2522 24,000 24,000 0
< 7,200
[ia 16,800
401 AIEHI L 2CHYI 24,000 24,000 0
< 7,200
[ia 16,800
01 A& HI 23,741 24,000 A 259
O3+ 2ix= 24,000, 000& *98.92/100 23,741
< 7,200
s 16,541
03 AlE 2 THHI 259 0 259
O3+ ilt+= 24,000,000& *1.076/100 259
HEa Y BDE I 688,207 650,278 37,929
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Sel: D24 o SmE XA CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
e 228,000
s 460,207
CA=E Z4d= IIES HE0EE ZEMEOIZ2S 300,000 340,000 A 40,000
e
s 150,000
s 150,000
401 AIEHI 2L 2 0H L] 300,000 340,000 40,000
s 150,000
s 150,000
01 A& HI 292,500 337,552 A 45,052
Oz 4+=Z4(2.0kn) 300,000,000% *97.5/100 292,500
s 150,000
i 142,500
03 AIE S THHI 7,500 2,448 5,052
Otz 4Zx=4(2.0km) 300,000,000& *2.5/100 7,500
SN, &=, 2, 60,000 60,000 0
HMENSHE S THEMY(BFU=EY)
s 30,000
s 30,000
401 A& HIZ 201 Y| 60,000 60,000 0
s 30,000
[ia 30,000
01 A& HI 59,460 59,460 0
OstW= =4 (10i4A) 60,000,000 %99.1/100 59,460
s 30,000
[ia 29,460
03 Al S HHI 540 540 0
Ostuz= 24 (1HL) 60,000,000% *0.9/100 540
L2 xd 60,000 60,000 0
s 48,000
fia 12,000
401 Al HI X 2018 60,000 60,000 0
s 48,000
[ia 12,000
01 A& Hl 59,460 59,460 0
oussd 60,000, 000& *99. 1/100 59,460
s 48,000
[ia 11,460
03 AlE =TI 540 540 0
ousesd 60,000, 000& *0.90/100 540
2= el 216,711 174,355 42,356
101 @124l 177,311 146,655 30,656
04 JIZHHZ2Z2XNSE+ 177,311 146,655 30,656
OJtz&d FHI (1070 =4, 330km) 177,311
—Jles 69,070 «8H 212« 108 116,038
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Sl 24 W D X4 CER-ED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
— W EH| 2,000 x8Hx212d x10& 3,360
=] 4,000 *8H*21 10 6,720
—F5Y 69,070& *x8Y x423= 23,208
— Bt&E G 50,000& *10& 500
— X< 75,0703 *8H x 10 6,006
40 282 155,832,000& *12.5% 19,479
—&gs 2 orNG 250,000& «8H 2,000
201 et A bl 8,000 0 8,000
02 3524t 8,000 0 8,000
Odtg+ 2z L EH KA 224
400,000& *4CH x53] 8,000
206 T 2 bl 28,000 22,500 5,500
01 & bl 28,000 22,500 5,500
Ot dals2dH <H 2
15,000& *2009H x23] 6,000
OJt24 22 ng=sdzs ¢
30,000& *200 % 6,000
Otz 882 SEH 2
3,000& =3, 0004 9,000
Otz skt #¢ 70,000& =12 1004 7,000
405 XtabF SHI 3,400 2,400 1,000
01 AL 2B F SHI 3,400 2,400 1,000
Ooul=x=J ¢ 550, 0003 =4CH 2,200
Odxg ¢ 600, 000& *2H 1,200
NEHEZ 22| 33,663 15,923 17,740
101 @121l 33,663 15,923 17,740
04 JI2ZtH22XNHEE =+ 33,663 15,923 17,740
OXEHETZ =2l (20km) 33,663
—-JI=23 69,0703 *2Y 20! 8 22,103
—F54 69,070& x2H %34 4,697
— X E 75,0703 x2Y 8 1,202
— W&l 2,000 x2H x20 x8 & 640
=ra s 4,000 #2920 8 1,280
—4AEE = 29,922,000& *12.5% 3,741
LIfEs ZX 22 17,833 0 17,833
101 @121l 16,833 0 16,833
04 JI2ZtH 22 XNEE =+ 16,833 0 16,833
ousest Zx2el(4.5na) 16,833
—-Jl2= 69,0703 18 20! 8 11,052
—F54 69,070& x 1Y %34 2,349
— A X==G 75,0703 x 1 8 601
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YRR T4 L 4
24 2 8D £4

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— st 2,000 x1H »x20 8 320
= 4| 4,000 *1H x20L x8& 640
—4UEE =2 14,962,000 *12.5% 1,871
201 2Et24Hy| 1,000 0 1,000
01 AP 2t 2] H| 1,000 0 1,000
oused Xz 2572
100, 000& 58 x23| 1,000
A=K =422 924,450 791,602 132,848
Fag 200,000
= 724,450
CAlE & 0l X4 676,941 641,544 35,397
= 200,000
= 476,941
TAE, oz, 24, 300,000 300,000 0
HENSE S MY (EAE X4)
Fag 150,000
= 150,000
401 Al HI L £ 0HHI 300,000 300,000 0
Fag 150,000
= 150,000
01 Al & H| 292,500 297,840 N5,340
O AlE Z4(0.5ha) 300,000,000 %97.5/100 292,500
Fag 150,000
= 142,500
03 AlE 201 7,500 2,160 5,340
OSZAlE X4(0.5ha) 300,000,000& *2.5/100 7,500
SCA=, Qi Ji2% 100,000 100,000 0
HENSE & ZEAY
(Msitess=d)
Fag 50,000
= 50,000
401 Al HI L £ 0HHI 100,000 100,000 0
Fag 50,000
= 50,000
01 Al& H| 99,100 99, 100 0
OXE0esxE =24 (1HA)
100,000,000 *99.10/100 99,100
g 50,000
= 49,100
03 A& E2HH] 900 900 0
OFEllesxs =24 (1HA)
100,000,000 *0.90/100 900
TCA=s & =22 268,691 237,794 30,897
101 21 214| 218,791 189,294 29,497
04 JIZtHIZ22XNSE S 218,791 189, 294 29,497
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B ZE=N x4
Sl TAE ¥ OS® X4 CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OZ A= 221 (434, 33362 ) 218,791
—-Jlas 69,0703 x13F 20 «8& 143,666
-5 69,0703 x13Y x34=F 30,529
— XY 75,0703 x 13«8 7,808
— WSl 2,0003 x13H 20 «8& 4,160
— =2l 4,000& 13«20 82 8,320
—4HEE = 194,463,000& *12.5% 24,308
201 LBt2E | 16,500 16,500 0
01 At 22l 16,500 16,500 0
OZA% % T8 2SI|17 +4H|
300,000& x30& 9,000
OZAN= & 23 2228 72
250,000& x10& =33 7,500
206 M= Hl 30,000 30,000 0
01 =8l 30,000 30,000 0
O®JIddlg #¢ 9,000& *2,000%£ 18,000
OgoiE&H M 2 15,000& 2004 x23| 6,000
Olng=gtlzs 2 30,000 2001 6,000
405 RHoHF S HI 3,400 0 3,400
01 AL EFSFHSHI 3,400 0 3,400
OWl=2J1-< 550,000& »4H 2,200
@RuIRPNE=Syel 600,000& *2CH 1,200
2¢s d=slss 2 8,250 3,750 4,500
201 LBH2EH| 4,500 0 4,500
01 At 2t 2l 2,500 0 2,500
Osgsdsltss 2elss5+7Y
250,000& x10& *13] 2,500
02 3323l 2,000 0 2,000
OJIAEH |X 22l 200,000 x50 23] 2,000
206 M= Hl 3,750 3,750 0
01 M2 4l 3,750 3,750 0
OgoiE&H M 2 15,000& 3074 *33l 1,350
Olng=gtlzs 7 30,000& 501 1,500
ORJI&EHz =4 9,000& 1002 900
AFOEXELR 186,524 149,318 37,206
ASEEEI2 2l 186,524 149,318 37,206
101 @14l 132,604 122,218 10,386
M4 JI2ZHZEXNSES 132,604 122,218 10,386
OdAxE2 M=ZY 78,079
—Jles 69,070 x6F 21«6 52,217
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— WSl 2,000 3 x6H x21 x68 1,512
— = A 4,000 6«21 62 3,024
-5 69,0703 x6H 24 9,947
— XY 75,0703 x6H 6 L 2,703
—4UEE = 69,403,000& *12.5% 8,676
A E2 22 & 54,525
—Jlas 69,0703 x2H 21U 128 34,812
— wEHl 2,0003 x2H 21 +128 1,008
— S A 4,000 2F 21 » 128 2,016
- =54 69,0703 x2H x52F 7,184
— XY 75,0703 x2F x 12 1,802
— HAESOtY| 300,000 x2H x23| 1,200
—4AHEE = 48,022,000& *12.5% 6,003
—&gs 2 etdst 250,000& »x2H 500
201 YEr2 Y| 9,420 9,300 120
01 At 22l 4,500 4,500 0
OLdxE2 22 2357
150,000 »10& »23| 3,000
O¢ttxE2 88 2= ME  5,000& 3004 1,500
02 8323l 4,920 4,800 120
OJIAHEbEl |Xdl 200,000& «5CH 33| 3,000
Ot x=E2 ®IIe3 160,000& =128 1,920
206 TH 2 H 16,500 16,500 0
01 M =8l 16,500 16,500 0
ORJI&Ebz =< 9,000 *500%£ 4,500
OgdisZH &AM & 20,0002 » 1004 2,000
O=E=s & X #¢ 200,000& x10&*53| 10,000
401 Al HI L 2T 20,000 0 20,000
01 A& HI 20,000 0 20,000
MEEIR AEE RXE
20,000,000& =14 20,000
405 XH&bF SHI 8,000 1,300 6,700
01 AL 2 ZFH S| 8,000 1,300 6,700
Z901(F201) ¢ 8,000,000 = 1CH 8,000
=z ael 60,985 740 60,245
2= 29 60,985 740 60,245
101 14 Hl 21,845 0 21,845
04 JIZHHZ2XREE S 21,845 0 21,845
SHE el 21,845
—JlEs 69,0703 «1H+212 108 14,505
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¥ Py 69,070 * 13 »42% 2,901
— =g 75,0703 x1H +102 751
— WSl 2,000 «1H =212 «10& 420
— = Al 4,000 x12H+212 103 840
— 428 = 19,417,000& *12.5% 2,428
201 Let24E] 2,900 740 2,160
02 =224l 2,900 740 2,160
O=%8 A3t HE= 500,000& » 14 500
Omdiz M2 MIILRS 100,000& = 12& 1,200
OA&EHl Sl 200,000 »2CH »33] 1,200
202 44l 6,240 0 6,240
01 = LH o4 1l 6,240 0 6,240
OUZAS AREX(BH)
130,000 x4 H «12& 6,240
401 AIEHI L 2 CHYI 30,000 0 30,000
01 A& HI 30,000 0 30,000
OdE=E(41A) SX22l 30,000,000 14 30,000
AT SXHH 2= 2,099,877 2,138,518 A 38,641
= 422,561
< 263,836
[ia 1,413,480
HIH=2 oI THoH ol 14,230 288,518 N 274,288
= 4,975
< 1,590
s 7,665
THoff Ol 2 I & 2,880 7,518 A4,638
201 Let24E] 2,880 2,880 0
01 At 2teltl 2,880 2,880 0
ONFZIYR =X ZHH(BH)
8,000 x6H x5 «12& 2,880
SHHE SESLH(XINM)(SHHEAIIBZH) 1,000 1,000 0
= 1,000
202 044l 1,000 1,000 0
= 1,000
01 = LH o4 1l 1,000 1,000 0
O=MHsE 2 20,0003 »1H »502 1,000
= 1,000
AsE MEZIAE HY 10,350 0 10,350
= 3,975
< 1,590
s 4,785
202 O4dl 2,400 0 2,400
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01 S LHOYI 2,400 0 2,400
OgXX 5t g
20,0003 «1&8 105l x128 2,400
401 A& HIZ 201 I 7,950 0 7,950
= 3,975
= 1,590
s 2,385
01 A& HI 7,950 0 7,950
Oaz 3L &N 24 (400ha) 19,875& *400ha 7,950
= 3.975
< 1,590
[ia 2,385
AMESTIoH =A% 1,618,848 1,321,264 297,584
= 303,632
S 214,216
[ia 1,101,000
AHE 0 88,773 92,594 A 3,821
101 @14l 20,703 34,179 N 13,476
01 2= 16,372 29,940 A 13,568
Ot=dst & ol S 25 Malbla2F =¢ 16,082
— 6= 11,4013 «5H »23A| 2t+53 6,556
A= 10,2993 x3H x23A| 2t+5E 3,554
— 8= 9,246 «2H #23Al 2t+5F 2,127
- 9= 8,357 3 x4 H +23A| 2t x5 3,845
OX™ <M &I 16,058,000 *1.8/100 290
02 JIEtE B == 4,331 4,239 92
Od=ds & g S 2SNl Ha2R =&
(Bauges) 9,246% x4 +23A| 2t +52 4,254
OMSIH&HI 4,254,000&*1.8/100 7
201 2yt 2 Y| 34,400 34,365 35
01 AP 2teltl 19,800 19,800 0
O&=xd SHIE HME 50,0003 «2001 22| 2,000
O&tE =4I M= 6,000& =1,0000H 6,000
Ot2 EE2=23 MH 2,500 x4 %2004 2,000
O8.2 ¢=0g = 9,800
= 8,000 x5 »352 1,400
—-H 8,000 3 +352 101 & 8,400
02 =224l 14,600 14,565 35
OgZMERE= 60,0003 «7CH 420
OXtsS XHAl 40,0003 «7TH 280
OnsSi B = 600,000 +7CH 4,200
OFU88=2AI =2l ¥ 32
10,000& = 100CH 1,000
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301 et a s 33,670 24,050 9,620
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< 179,784
s 803,950
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= 220,778
< 176,242
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s 182,364
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< 12,024
i 28,056
—4HEE= 263,568,000 *12.5% 32,946
= 13,178
< 5,931
s 13,837
— 2= 2 et@st 180,000& 50K »23| 18,000
= 7,200
< 3,240
e 7,560
Ottr= 2 A& (60Y) 640,759
—Jlas 66,800 60 x130 521,040
< 62,525
e 458,515
—fEFFY 66,8003 *60H 20 80,160
< 9,619
s 70,541
— 428 = 316,472,000& *12.5% 39,559
= 4,747
i 34,812
201 Yer2 | 19,679 19,679 0
= 7,872
< 3,542
s 8,265
01 At 22l 16,000 16,000 0
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2N s
Mz MO XA 2=
CHRl: AtE2T|0H = ASH Cf2H
5 - 4
HE .G (3H) - HEAY - B %Ei
07 NIXSHH2ESSZ2 93,375 93,375
OutEdsg g IRt 31,125,000 *3CH 93,375
MAEYX DNEEA L XA 3,912 3,912
308 XHXIGHH SO0l & 3,912 3,912
07 AIXISHHZ2ES S 3,912 3,912
OugLAASOY BS Y B
391,200 =103l 3,912
SEAS MM AIAE 7,800 7,800
= 3,120
& 1,404
= 3,276
201 LBt Y| 7,800 7,800
= 3,120
& 1,404
= 3,276
02 Z2=2=2494| 7,800 7,800
OMEZAE AXZHAIAR(SAR)
130,000 »60CH 7,800
= 3,120
& 1,404
o 3,276
MAENEE SAEH 25 2 29 4,000 4,000
= 1,600
& 720
= 1,680
405 XHAHFIEHI 4,000 4,000
= 1,600
& 720
= 1,680
01 AL 2 EF S| 4,000 4,000
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